Example 4 |
(&) repwisive

(D) F =K ]q. 2| _ (8.99x109)|(2.00107%)(8.5x1079
rz (.02
Fe- 15283 N
| Fe= 1500N o 1.5x103 N
Example #2
() attrective
(B R = Klahqu _ C‘%.QQKID*))_(B.Z v(O"D(l.‘f)xlO‘q_)
rz a.s5)?
fe= 1.9 208 N—‘
Example #3
() FBD:
lon, F&onz
P
ZF=F=F ~F., =0029779N-0.049445N =" 01 9666 N
Foy = lﬂhége _ (8%x0NB3x102)(2.540°9) _ 0.029779 N
il (2.0
Fiona= KLchg—z - (829<L07)( Z.ZKID'QQ.SxLOﬂ_ 0.0494H5 N
R (LOY* i

l F;_.: 0. 020N or Z.Ox(O“zN) -y, directon l Q)




€ —— > E
Fand 2en4
ZE

EFX = ’J.ona_ F%bl\i =0 OLl‘qu'L{‘SM 0.0 [ 6’—!—7’\, =0.037197

Faony = " %} CB%LO"()(QSxto-%zzxpo~c) 0.CH LS N
N2> ] Oﬁ"'

-G

Frons = ¥|25%) - csaﬁxfoﬂ((g'z;io 125109 65 0110 g

Mo

lFi= 0.038 N or 3R%I0""N, +x direr;h‘on—“

Example 4 _ - _ _
EBD - Frer =GR + (3R = [ (comnef(oostorad
Fa . }T:ne;t'-T 005G o 5.6xI0 N

-1/.00540864 _ 6
8 =tan' (RN - tan = 775.3¢3
S 4s° (iYF,L 00 14) 26

1 |6 =75° drove +x axis |

LJ: F . costd® =0,004126 N

Ton3

ZFH:. F e SINHO° + Fanz = 000141 26N +0.003%G N = L0054 RokH
F

lon3 =

K Y93 (8. CQ"‘]D&DCZ OxI0 GTQ-OHIO-Q_ O.001997 R
e T -9 N

s = KG29s _ (3AION Q060N 2.04D <) - 0.00399¢ N
P C 2.0)%




